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100 (& 72w1) > 11 (K1IIPDN)
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I x mwn: Rule of mnn mxon wnn
a  Unqualified Amm: 9592 IMNY NRON ,NRVN NNHRN ,NRON TON
b Qualified 7y if its year has lapsed or it was lost, then found as o nYya
i Ifafter 7792 it dies, does not generate N0, NR1n is prohibited (v”n) but n»’yn doesn’t attach
ii  If before 779> graze and sell and buy another; it can generate nnn and n%yn attaches
I Analysis of mwn: why weren’t all five taught together?
a  Answer: since the first three have an unqualified ruling and the last two are “split”, taught separately
i Note: this mwn also appears (verbatim) in nmnn (X:3)
ii  Explanation: it appears here due to mention of n>’yn and nmnn is mentioned 2)x; inverse in N7nN
I 2 mwn: status of funds set aside for mm vis-a-vis n»yn
a  If:he didn’t designate specific funds for each 129p, no n»yn attaches (although there is an 1% nN2% NRIN NOR)
i Reason: any of these funds could be used for nno>w
b If: he died and had unspecified funds — they all go to nam
i But:if he had specified the funds
1 nxvn T go to nHnn o), no NYyn attaches (although there is an n%NN2% RN NOR)
2 5w opT are used for an N9y, and nYyn fully attaches
3 wbw opT are used for a wnYw, which is eaten on that day only (7’11 'n5w3), but no bread is required
¢ Challenge (572w7): why not add a parallel case — if someone set aside funds for 1’3p, no n%yn attaches, since s/he could bring
young o1 or overaged v 121 (which wouldn’t be accepted on nam)?
i Answer (837): disanalogous — n7in commanded to bring D'n5w from unspecified m-funds
1 But: no directive to bring “wrong” birds — unfit for nam at all
IV 2 mwn: pynw 1 (YRYNw? "1?)’s epigram, contrasting o7 with ool
a  pr starts out 9p and becomes mmn: Before 77771, no n%yn; when it pours down to the Kidron — n%wn attaches
b ooz starts out 1mn and becomes Yp: Before libation, n%yn attaches; when it is poured down chutes, n»vn is lifted
i Background: 2:3 Rny Rnaovin — v" 1 0™ — there is NYYn (v”n) in 07 (after 7"n171); DNIN —no NYYn
1 Source: for no nnn 0 1Y'Yn
(a) A5wrv.1-itis “yours”
(b) 277227 v.1-193Y — it is for N9, not for nYyn
() 77 v. 1 —192 waia RIN DTN 73 — compares post-1"n1t with pre-17n7t (both have no n%yn)
(i) Question: why not compare and have n%yn attach to both?
(if) Answer: we have no model of something where mxn is completed and n%yn still attaches
1. Counter: jo7n NMIN maintains n%yn after mxn is completed
2. Blank: 7"mAn and nYnwnin 1y »aR (which may not be used even after it dies) are Tnx2 PRan pand 1w
a.  Counter: that only works according to opinion that 9’»® »aR are o™X
b.  Answer: 7"nmIn and nnnd *1a (of 303 on 3”ny) are 1IN NV
i.  Counter: that only works according to 1327 who interpret v. 2 (ow omam) as requiring nrax
ii. But: according to X017 "7 — that they may be used, just not for another 57 — what is the source?
iii. Answer: 7'mIn and navy nviy (v. 3) are NI NY
iv.  However: there is an opinion ("> " —in 1% pwYPP) that PTndn TR PRIN PN Y
v. Answer: even he would agree here, as there are two Pvwn —navvn and v (v. 4)
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V  Analysis of 2" half of mwn — 1301 which only have n%yn before libation
a  Proposal: mywn does not accord with ¥"ar7, who reported that there was a small pit on west side of ramp before nam
i And:every 70 years n1n2 'n1a would go down there, retrieve hardened wine (like fig wheels) and burn it nwyTpa
1 Per:v.5;just as it is libated nwyTp3, it is burned nwiTpa
(a) Explanation: wp::w1p per v. 6 —just as WM is used to describe status of 1M when burnt, wmp in v. 5 is burnt wTpa
ii  Rejection: could even follow ¥"arv; perhaps he only referred to wine that is absorbed in 9%
1 But: wine that isn’t trapped in %15 and goes down pnw remains without n>yn
b Alternative version: our mwn follows ¥"ar3, but only in a case where the 55 caught the wine before it went down
i Rejection: even if it went down, no n%yn
ii  Explanation: ¥"aR’s ruling was 122771 — the use of verses is Xnanor
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